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Corruption is one of the (1) ---- Problems of our country
. Itis an act done with (2) ----to gain some under
advantages, inconsistent with office duty. Government
has (3)---- many schemes for the welfare of the people
but corruption seems impossible to be (4)----- India can
become a corruption - free nation only when all the
citizens (5)----- Rules and regulations with a strong will
power and cooperate whole heartedly.

1. (A)  minor (B) powerful
(C) strong (D) major
2. (A) passion (B) compulsion
(C) intuition (D) intention
3. (A) denounced (B) announced
(C) concealed (D) written
4. (A) eliminated (B) created
(C) initiated (D) permitted
5. (A) reject (B) disobey
(C) follow (D) break

6. Select the most appropriate antonym of
the given word.

BRUTAL
(A) fierce
(B) sane

(C) savage
(D) humane

7. Select the most appropriate option to fill in
the blank.
Advertisers often use rhyme and
(A) alliteration
(B) denunciation
(C) designation
(D) alteration

8. Select the most appropriate meaning of

the underlined idiom in the given sentence.
It is a wonder how some people

manage to sit on the fence without committing

themselves.
(A) to sit lazily and not do anything
(B) relax when others are working
(C) remain undecided and unsure
(D)  build fences and walls for sitting on

9. Identify the segment in the sentence,
which contains the grammatical error.

“Unless you did not do your homework
you will be punished,” said the teacher.
(A) do your homework
(B) Unless you did not
(C) said the teacher
(D)  you will be punished

10. Select the word, which means the same as
the groups of words given.

One who loads and unloads ships.

(A)  captain
(B) rustic
(C) spinster

(D) stevedore

11. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If no substitution is required, select
No improvement.

You won't tell the secret, won’t you?
(A) No improvement
(B) would you
(C)  will you
(D) isn’t it

12. Select the correct synonym of the given
word.

Obligatory

(A) Useless

(B) Reckless
(C) Mandatory
(D) Aggressive

13.  Select the wrongly spelt word.

(A) Cremator
(B) Cricketer
(C) Cracker
(D) Creater

14. Select the most appropriate ANTONYM of
the given word.

TRANSPARENT
(A) Clean

(B) Shining



(C) Opaque

(D) Beautiful

15. Select the most appropriate option to fill in
the blank.

Scientists all over the world are engaged in ___how to
find a vaccine for COVID-19.

(A) Inspecting
(B) investigating
(C) Researching

(D) Scrutinizing

16. Select the most appropriate meaning of the
given idiom.

Provide a blueprint

(A) Submit a printed application for a blue-
collared job

(B) Give a detailed plan or scheme
(C) Have a building plan printed in blue

(D) Propose a plan of a secret meeting

17. The following sentence has been split into
four segments. Identify the segment that contains
a grammatical error.

It would be/ more better if / she sang / will an
orchestra.

(A) more better it
(B) with as orchestra
(C) It would be

(D) shesang

18. Select the most appropriate word for the
group of words.
An official pardon
(A)  Redemption
(B)  Regicide
(C) Amnesia
(D)  Amnesty

19. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If there is no need to substitute it, select no
improvement.

We have been waiting to watch this movie
since we first read its review.

(A)  We are been waiting
(B)  We has been waiting
(C)  We have being waiting
(D)  No improvement

20. Select the most appropriate synonym of the
given word.

Paranoid
(A) Patronising
(B) Suspicious
(C) Impeccable

(D) Insignificant

21. Select the INCORRECTLY spelt word.

(A) Muscle
(B) Rinckle
(C) Graw
(D) Plump
22. select the most appropriate option to fill in
the blank.
Shekhar Gupta is one of the journalists of india.

(A) Exponent
(B) Pertinent
(C) Eminent

(D) Imminent

23. In the sentence identify the segment
which contains the grammatical error.

On September 11, 2001, two
hijacked aircrafts crashed to the world trade
centre in new York.

(A) On September 11, 2001

(B) World trade centre in new York
(C) Crashed to the

(D) Two hijacked aircrafts

24. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If there is no need to substitute it, select no
improvement.

There was a long queue at the post
office and by the time | have reached the counter |
was told the printer was not working.

(A)  No improvement

(B)  lam reaching the counter
(C) Ireached the counter
(D)  Ireached the counter
25. Select the most appropriate word to fill in



the given sentence.
The passengers waited____for the local train to arrive.
(A) Meekly
(B) Hastily
(C) Considerably

(D) Patierly

26. HTIHA Al A AT fha ToT A
Tefad &

(A) uT

() UP

(C) PIeTehIdT

(D) MP

27. HAH FcT H WY fHE ToT W

(A) AT

(B) Tafewa

(C) dMmeis
(D) PR

S

28. dId ddle 9T S el aTell 9goll ¢ i
e

(A) aTeXeis

(B) A&

(C) rsare
(D) A

29. 31, OCT 2019 ' #ld g™ F Jgal
3U-UI9TT dt g

(A) TH TH 9

(B) AT aterdy

(C) IRF.HATYT
(D) faer I

30. 24 FTadY 2021 H QT 339 I3SH FlA
geteHel arfaa fFar T ar 2

(A) RFea

(B) IITATH

L

(C)  AUTMer
(D) @&

31. guwe f&@w ( Good Governance Day)

gfaay 25 REaR & & I 9 ARIT SATaT §
I

(A) 3reer fagrdt arera=h

(8) drdl. xfAFEr 1@
(C) STATEIT A%
(D) Treia el

32. a¥ 2019 -2020 & &9 U= # wfasafaa

3T g s off ?

(A)  mar
(B) ISR
c) fRfEsa
(D) el
33, oo FE AR Fae W AT ® ?
(A) WY
(B)  flatur
(c) femr
(D) HIFEGAT
34. AR A TIC] el SN
(Lovlina Borgohain) fa&T # ¥ ¥ oI - aof &
addr g ?
(A)  75kg
(B)  69kg
(C) 91kg
(D)  81kg

35. udawH! (LAC-adds® faa=or 3@n) #aRd
R F N v gurd @Ar T |

(A)  rferEdre
(8) e

(c)  sfrerehr
(D) eI

o

36. faue awg & v fAerE devy v+

__ 9§ # Qaifagd 1§ |
(A) wH
(8) ar
() =R
(D) fa=r



37. s & wrEar ) daa 3R a7 T
& AT MS Yc & AT § & 59 wrea wrEfe &
3qahr fRaT o

(A)  PPT

() DOC

() JPEG

(D) XIS

38. far faf@a & & fFaesr 3T agar &
BISTAIT Toie F T A fRar AT § 2
(A)  Fa@IReT (Chlorine)
(8)  Wf3IH (Sodium)
(c) Torefes (Gelatin)
(D) afFer ;T (Baking Soda)

39. guAfY wifRw (¥aot #fRR) el Rua & 2

(A) TR

(B)  uferer
(C) 3HHAW
(D) fgEr

-

40. 3N F FE@Tr FT Feu (1612 ) Fras
fQeTe o=t a1 ?

(A) WA

(B) 39 (gTels & )

() 3fAer (STATF F M)

(D)  gdImfaY

9

41. gfeam #r qEdt g 3N oda 9@, F -2
frrafaf@a & @ sl @ 9da s@en w Rya & 2
(A) gdf FRFRA H@er
(B) R garre @
(C) @ s[@e
(D) SEHR @l

42. 99 WEA & gl & fAeAw g7 F sren
ST § 3T WT aGAHT g S § |

(A) e
(B) I
(C) T

(D) e

43. AW F wF AFeed HR AT H

AT ¥ Shaer-aRT & Jc7 & Aegw @
geTaT 1T ¥ |

(A) T
(B) &I
(€ &
(D) T[H

44. 9 & HedA (FW sfiansmr H et
ST §

(A) g
(B) EHET
(€ gFE
(D) @ TEdEH

45. gHier 9= ARIH AFE R HI agATE
#T gcelt oY ?

(A) R
(8) §AHY
(C) SElIR
(D)  emgaTer

46. HRd QR a9 ¢t fFg @9 @ wefod

(A)  dAdRaTSiT
(B)  silTgeT
(© Tl
(D)  HFhaTSHt
47. Tt Srevara e o # Rua § 2
(A) 3 weer
(B)  feHTIE waer
(C) 3mea

48. 8T #FAET (MOE) & ISET
IU-HE-AqdT BEg Aol (NMMSS) #
9% I @R A A g @ ¥
(A) 2022-23
(B) 2023-24

(C) 2024-25
(D) 2025-26

49, i #d g NfAFIT Mer (rEdva)
PaTgel o H Ugell IR FNEH IfAFled af 75
87



(A) AeT$ R g
(B) 3eRr Hicew

(C) HIAHIAT ABE TSSH
(D) #H=E 3B3Fw

50. R gfasfa 3 Rfawa a5 @@ a

fraedhY regatar F us dwfeusw @A Afa

FAFR FATY FT Gerstoar fram &, St wamsew

T & g g [AFT F wnRa & I F§

Hegl W Gelt a9 g 1 warg addt 82
(A) T shfearaeT

(B) MU A=A
(C) Faqer Farer
(D) Tel AR oARrgor Hfct
51. & =N 99 # 35 aiefhdi 3R 15 o< €1 10 718
arsfoat gor ¥ enfie g2 | o/ aotd # Frefdal w1 ufoera fhar
2?
(A) 80% (B)65%
(C) 75% (D) 60%
52. o Wi o g 120 21 3fe sdt e, 9y o
T & IANT B Uh—dles  ®, Al ol | Efalad § 9 o
A 8?
(A) 148 (B) 150
(C) 108 (D) 144
53. R 5l avRifd iR 8% arffe ot e W 2 99 #

TRV TS IR IHgfg Tt & 3ick Rs.160 &, ar g=Rifer fha=
87

(A) Rs.28,000 (B) Rs.24,000
(C) Rs.25,000 (D) Rs.20,000

54. U gHMER A U 9% 18% &1 i W ¥ | Al 9%y
&1 fdwa e Rs.5,740 &, a1 s@a 3ifhd Jea (Rs. #) =d
P |

(A) 6,000 (B) 4,706
(c) 7,000 (D) 5,890
55. uhpt fn, x, Lredk wvky[k dk v/;;u dj] tk

1991&1992 i 1998&1999 rd ,d n”k d fon”kh enk
HMkj Yfefy ;u US $ ed n”kkrk g] vkj futufyfkr i”u

dk mear <1 < @1 fa<eh qo1 WeR (FAfeaa US $

e
2 AN
6000
(40
SO0
N
A&V
o 710
.L'l. ~v =
1360
120 3120
3000 + 2640 S
2000
1000
AV
|
B - . . u_=
4 : 5
& o o o 9 o o
A 1 Y N { N A’ &
o & 0 5 Y o oY
5 5 0 5 O 5 9 9O
\ N \ S \ \ \

1997—98 U fa<el a1 WSR 1993—94 ¥ fda«T [T °M?
(A) 25 (B) 2
(@ 15 (D) 3

56. afd 321a9246b wd Wl HEr ® S 72 | fawrsy g,

2 1.2
Eﬁa b BT A9 ST B |

(A) 12 (8) 10
(C) 8 (D) 9

57. & 3R M @1 Bean (m H) @& g, e aawd
I FBYCITAR HaM & &3%d & B8 A1 & I-I6R &, o] Yoy
22

35m 53maik 66 M2 (1 7 <R
(A) 42 (8) 21

14‘\'{[E 14\/§

(€) (D)

58. AR B U% |t AeaR & axd 8¢ fbdl s @1 15
fRAd R aRgapd ¢ | ale A, B 3R C v& | fAaas sl o
@1 10 f&1 # Q1 B wehdl €, a1 g0 B BT 3rboed C bt fa=AT
H QR B DT 872

(A) 35 (B) 28
(c) 20 (D) 30

59. e ¥ &1 X% aifie deRer &l &} R 3 a9 &
forg SurR e a7 | R g9 (X4 1) Yot arffe <= = 3sur fear
ST, A @t & w9 # RS.48 e ure B | ag o=Rif (RS,
) o 82



(A) 1,500 (B) 1,600
(¢) 1,750 (D) 1,800

60. afc 12A=11B=33Cz a1 A:B:C=ma & |
(A) 4:12:11 (B) 4:11:12
(C) 11:12:4 (D) 12:11:4

61. o Ryl & 20, 37, 54 ik 105 # 9 X &1 gern
AT 2 A1 39 UHR U e qArguh &9 H 2 | (7X-5) iR
(X+6) & 9= weargue fhaar 8?2

(A) 18 (B) 12
(€) 15 (D) 10
2 2

6. 08.2 88.2 ot T AR |

(A) 1846  (B) 100
(C) 1864 (D) 186.4

63. TP vad o9 400 m iR 235 m FE1S & < Yot bl
BHI: 100 Vhs 3R 60 Vbs § TR BT 2 | Yold oI Bl oldls
@ AR A1 (M H) faer grm?

(A) 25 (B) 50

(C) 100 (D) 75
64. TP T BT U R &bl 576 cm? & | SHT S
(cm® ¥) s Fifg |
(A) 4096 (B) 2744

(C) 1728 (D) 384"/E

65. ykbu xkQ yxkrkj 6 epk el ,d cYyckt di Ldkj
P <ertar 2| Su@ 3wl & fawr (o) @ 272

Score in each Match
&
&8

o

3

(A) 43 (B) 51
() 41 (D) 53

66. The bar chart given below shows the
annual production ( in 1000 tonnes) of coffee of a
country for years 2009 to 2013.

2000
1800

1500
1200
800 I
2009

2010 2011 2012 2013

What is the percentage increase in the
production of coffee in the year 2011 as compared to
year 20107?

(A) 20% (B) 27.5%
(C) 25% (D) 32.5%

67. fder f&d ™ ue MR rifydk 1j vidifjr gA
diferdT &l dedr feu g3l & Scax dfiv|

ST (89X =1 H)
B EICE] g <Tel
P 45 100 30
Q 48 85 20
R 60 30 25
S 40 32 20 I
T 37 20 135

JKT; R ei pkoy VvKkj xg dh mRikinr ek=kvk ei vuiikr fdruk
Fkk?

(A) 3:5 (B) 1:1
() 2:1 (D) 1:2

68. 120 Vel & Wiy &1 Ay 80 7 | U Yer # ¥ 10
TSI SITdT & 3R 399 Ui 919 &1 7 9 fawrforg fovar siar 2

T WA B A A DIfor?
5 1
w 56 (@) 712

(€) 10 (D) 7



69. i weemil & agurd 3:5: 7 7 iR I dT A4
(LCM) 840 g 3@t 54, (HCF) 5ma & |

(A) 8 (B) 4
() 5 (D) 6

70. g A 1o A1RAE o 1 12% U@ et g @ &
S BT BT fhaT| T <7 & 3, S 3o oty gaer faar
3R Rs.2160 &1 &4 f&=, S S9& gaRT 4d H q o &

BTel B T & 125% & SRR © | Wi B AR 3 fhah
2?

(A) Rs.11200 (B) Rs.9600
(C) Rs.14400 (D) Rs.12800

71, &% SHFER, 9/@d B & f&H BT 1: 5P Fgurd 7
fAf3a axar 2 | araat & el fhs & dd Rs.65 ufr kg 2 *ik
T e 31 Ha Rs.95 uf kg & | 98 fAfda amaa &1 Rs.99
gy kg @1 R | JEAT 8 | ST A Grerd S o |

(A) 10%  (B) 4%
Lo

() 19% (D) 253

72. 3k
(5+4%)+30fx—2x4= —7

BT HIE T BITT?

2 a X

(A) 7 (B) -7
(C) 5 (D) -3

73. U U UTH BT AT B 3R A T T 72 BT SR
=4

s o # frelt 3w =1 amaa ok FPofa @ds e &)

EZ8ES

cEEBEES

o HIGTE » ﬁ'ﬂfﬂ
ad
foar SITar 8, a1 2015 ¥ AT BT AR R el & [ Heoiadg
BT BErT BT (Rl #) ——— 8|
(A) 75.6

(B) 73.8

(C) 59.4
(D) 70.2

74. fear war uig = 99 SETaR] P AT Bl ST B,
S 2010 # AfShar yder oiem & fIU A= BRI o 3R
e TRd @ a1d Fafeear SRt & uier Sl wF off | yder
T % IUReIT B dTel SHGaRi @1 el wer 1,80,000 off &k
IN0T IRNEART BT Fel = 75,000 o |

S BT YIS 3eTTT I 3R 1 Iy 77 7o & SR < |

Amifda gaftznr = 180000 | oo aufteur

(Are: Frr <ofar T ST dae TR st & forg B Uw
IRAfdD Afbs! BT fFrofid T& axar g )

A B ok E & fog S&iivl Swiieari &1 wgad 6w, S
C 3R D & forg Amifrd SHiieert &1 Hga ST &1 fdar ufcrerd
(GIHAd & 91 1 RAF dF TUFT HN) 87

(A) 38.4% (B) 48.6%
(C) 347% (D) 69.4%

75. = Ui$ Ac # SR SRR, Yl YRaR AU AR
3mg Bl fafi=1 & W) @9 AT B |

CigE oM ez
14%

16%

11%

woal € TeEw

ur wd
17%

TR B BRI SR q9d & folw Fgad &3 & DEr BIvr S1d
ol

8] 8]

(A) 90 (B) 108

8] 8]

(C) 100 (D) 30

76. 39 0o &1 999 B S W U A Red w9 31 gl 7 §U
G BT B |



33, 45,69, 105, 153, ---------

(A) 227
(B) 213
(C) 214
(D) 224
77. 39 fIded &1 999 W 9 w2l WY A Rad I o gt d 8¢
AT B R N |
FP, GQ, HR, ?
(A) BN
(B) SB
() IK
(D) IS

78. frdY g & 253 &7 31T § books are old, 546
FT 37T 3’ man is old 31T 378 &T 31 %’ buy

good books| 8 PI5 H 'are' ThEdr 7T §?

(A) 5
(B) 6
c 4
(D) 2

79. ,d 0;fDr nf{k.k dh vkj €k jgk gA 10 end pyu d
ckn og ck, 90° eM tkrk gA 15 ef0 pyu d
ckn iuh ck, b ck, 90° eM tkrk gA vilre
w4 H 98 fHw feen 4 aa =1 2\

(A) RiLd
(B) nf{k.k
(@) 10,
(D) uf¥=H

80. TG e I H LIEUTENANT &I
123252021411420 for@r STelm &, @ 38 &e

HTYT H MANGO &I v JoR for@r s 2

(A) 13114715
(B) 1311474

(C) 14141375
(D) 13114157

81. fAwfaf@a ersal #I afy frdY s
amrﬁmma;wmﬁmm
ST &, df e T 9T HiT 9T eg HTTIAT?

1-Wink 2-Whip 3-Weary 4-Wing 5-Weigh
6-Weather

(A) Weather

(B)  Whip
(C) Wing
(D)  Wink

82. A M&Frufdg YN Fframfig| NR 3R
U a8 M, U & gaae 3 A, U & S
wefa g ?

(A) TS

(8) fam

(C) HTelT
(D) der

83. TR v ereel # v aifF® 3R Wi+ FA
# 9afRd F1a I 98 [AFeqd F1 99T N |
1-39Y 2-Ae 3-fFaY  4-gFY 5-HA 6-3F
(A) 2,5 1, 6, 4, 3,
B) 2,1,5,6, 4, 3,
(C) 4, 3,5, 2, 6,
(D) 1, 2, 6, 5, 4, 3,

84. NgoLnvkP,Q,R,S, Tvkj Ue]Q,R LHkkjhg
yfdu T Ligvdh gA S, T I g¥dh g yfdu U I Hkjh gA P,
Q LigYdh g yfdu S L Hkjh g rk nilljh Bcli Hkjh oL dku
Ihg?

(A) P
(B) Q
€ S
(b)y T

85. Ni 0;f0r A, B, C, D, E rFk F nk 1fDr;k e]
iR;d ifDr e rhu cB gA
E fdlIh Hh ifOr d vir e ugh gA
D,F d ckb vkj I nlj LFkku ij gA
C,E dk iMklh g rFk D Ii fod.kri cBk gA
B, F dk iMkllh g
futufyfkr e I dku ,d nlji d fod.krt foi jhr cBk

g?
(A) D rFk A
(B) ATrfk C
(C) F rFk C
(D) ArFk F
_f
86. ;fn e’ dk VR 4+, -<dk VK “x’, ‘x’ dk

LT
VFK ¢, vkj ‘4> dk vRE <" 7 Tk

664+4 34 X 28 =7
(A) 172
(B) 162
(C) 185
(D) 165

87. fn, x, pkj fodYik e I ml vkdfr dk pu] fel
vkdfr X d fjDr LFku e: ifcuk 2kek,% 1k gk €k, xkA



(A)

(B)

(C)

N

(D)

88. utp nh xb @e e , I fdru *1* g ftud Bid igy
*f g yfdu ckn e *7* ugh g\

719117189171213114571
3917

(A) ,d

(B) nk

() rhu
(D) pkj

89. afg + @1 3 -, - F:T Y KX F:

3{&‘+’3ﬁ1‘+’$r3rai'+’%,?ﬁﬁmﬁﬁ?r
U FT AT FIAT 2

27-2+24x8 4

(A) 55

(B) 50

(C) 45
(D) 51

90. fa#rem 39t &R & 30 m 3R H AR Fedr
¢ R o 3R e @ 3tk 40 m T 71 B,
qg aTT A3t § 3 35 m Taedt 3] 39F 91G, @
aré 3T Az ¥ 3R 40 m ol }| TET , 7
2 75t ¥ 3 85 m o ¥ A, aF A @
2§ 3T Az ¥ 3 50 m wach ¥ aF W, @
3T A 1§ 3 Ay § 3 20 m TEH ) T@

9 WX A ot g7 AR frw Rar 7 372

(A) 100 m, q&

() 20 m, gfREH

(C) 30 m, gf&yor
(D) 30 m, 9&

91' Zlﬁ D = 31 G = 6, iz)ﬂl—\I FUN = 381 q9
PRESIDENT = ---------

(A) 100
(B) 119
() 110
(D) 101

92. fn, x, fodYik e I yir L[k Kkr djA

756 | 879
534 | 722
666 ?
(A) 482
(B) 562
() 471
(D) 571
93. futufyflkr wvkji[k e] rhiu oRr g] vkji[k dk
SFYdd e &) 3 faw v glaf & Saw
gfRy
.’/.—\\\1
TR B
/k\i X\
e
’“Tff';' e
S+ fTherat &1 gar «mg st <10V g Hkjrh; ugh gA
(A) 5
(B) 2
() 4
(b)y 7

94, I PRINCIPAL 2s& &1 LAPICNIRP & &T &
foar SITar &, a ADOLESCENCE &1 3F &g &

5a ®7 # for@r 31 ghar g 2
(A)  ECNCESELODA
(B)  ECNECSLEODA
(C)  ECNSCEELODA
(D)  ECNECSELODA

1
95. ;fn dk vF g ‘+', ‘+' dk VFK g
(RN A ro 1!
X, - dk v g Vkj X
dk vFK g ‘+ rk futufyflkr e 11 dku&lk
leftdj.k Igh g\



(A)  30-6+5 7" 4 ° 2=27 100. 39 &7 3N FT T97 F, 3 R 7w F97t
(B) 3o+6_5T4x2=30 ¥ I & gau F gafad 1 F FeRT Far 8
(C) 20 X675 4T 2-3 ar, g, dafie

(D) 30 " 6 5 4 2=40

h jh ijhhi hh jh
(A) ihji
(B) hihi
() ihij (B)
(D) hjhi
97. dFkut 1<kl dh ;kX; rk oky: cPpk ei fgTtk dh
V) sk ,d BkekU; ckr gA fu"di I mUg: Jo.k Bc/kh Bcyu .
nuk pkfg,A Il mu ij fo'kk -1 1 0;fDrxr /;ku nuk pkfg,A (C)
I cPpk dk fdIh "in di fgTt dk ckj&ckj nkgjkur d fy,
dgkuk pkfg,A IV ,d vu@e ckydj] mPpkj.k dh /ofu e I/kj .
djkuk pkfg,A
(A) Jkork 10 5k I01 Bgh gA
(B) Ivij 11 Igh G (D)
(C) doy I Igh gA
(D) [T vkj IV Igh gA Answers:
1.D (2)D (3)B (4)A (5C (6)D
(7)A (8)C (9)B (10)d (11)C
98. dFkut dkb cPpi ernkrk ugh gA fu"d"d T BHh (12)c (13)D (14)C (15)B (16)B
Ak< ernkrk gA 11 dkb ernkrk cPpi ugh gA (17)A (18)D (19)D (20)B (21)B
(22)C (23)c (24)C (25)D (26)A
(27)C (28)B (29)C (30)A (31)A
(A) doy fu'd 1 ykx gkrk g (32)A (33)B (34)B (35)B (36)B
(B) doy fu'd" II ykx gkrk g (37)C (38)C (39)C (40)D (41)A
(42)D (43)A (44)B (45)B (46) A
() fu'd"k 1vkj 11 nkuk ykx gkr g (47)C (48)D (49)A (50)D (51)C

(52)D (53)C (54)C (55)B (56)D
(57)A (58)D (59)B (60)C (61)B
(62)C (63)B (64)C (65)D (66)C
(67)C (68)C (69)A (70)C (71)A
(72)A (73)b (74)A (75)B (76)B
99, dFku 8f dkb t‘rkl p|iy Ughi ng (77) D (78) D (79) A (80) B (81) C
~ dNphy IMy gh (82)D (83)A (84)B (85)D (86)A
fu'd' & I. dkb IMy tr_k ug‘ha gA | (87)A (88)A (89)a (90)d (91) D
II. My tk pliy g tr ughz g:A_ | (92)C (93)C (94)D (95)A (96) A
(A) doy fu'd I vulj.k djrk g (97)D (98)B (99)B (100)C
(B) doy fu'd' II vulj.k djrk g
Q) shrk fu'd I sk fu'd'k IT vulj.k djrk

(D) fu'dC Tvkj 1T e I dkb Hh ykx ugh gkrk

(D)  urkfu'dkIwvkj ughfu'd¥II vulj.k
djrk g
(E)  fu'dC I vkj II nkuk vulj.k djr g



